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1. f(z,y) =2 =322y +¢*+3=00000000000y=9(x) 00000000
0000 f,(x,y)=f(r,y) =000020000000000000

2. f(r,y,2)=2*+y*+2:2—-400000000000

(1) f(z,y,2)=00000000000 2=(z,y)0 z,y0000000000000
(2) OO S: f(z,9,2)=0000 (1,-1,1)00 SO00D0 «000000000

(3) (2)0000000 «00000 A(0,2,0000000 AD000000D

3. x:%log(u2—|—v2),y:Arctan§,z:uv (000 w#£0)0000000000
(1) w,wwOx,yOOOODODODOOOOOOODODOO

(2) z0z,y00000000OODODOO

00:(1),2)000 4 00000000000

4. 00 ¢(z,y) =22+¢y*—1=00000000 f(z,y) =2—2200000000
00O000O000O000O0o0o0

5. 00 ¢(z,y,2) =42 +9y*+22—-4=00000000 f(z,y) =4ey+00000
dooooooooooooooon



